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Exam Style Questions

Inequal iIties Corbettmotths

Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You may use tracing paper if needed

k.

Guidance

1. Read each guestion carefully before you begin answering it.
2. Don't spend too long on one question.

3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings

P
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1. Match each inequality to the correct description.

x> 4 x is less than or equal to 4
x<4 X is less than 4
X < 4 X is greater than 4

X > 4 ——— X is greater than or equal to 4

)
2. Represent the inequality x > 2 on this number line.
T T T T T >
-3 2 -1 01 2 3 4 5 X
1

3. Represent the inequality x < 4 on this number line.

@

3 2 1 0 1 2 3
(1)



4.

Solve the inequality 3x-8>16

T 724
17 % X728

)

(a) Solve the inequality 2x-1<9

AL <10
)
(2)
O >
3 2 -1 0 1 2 3 4 5 X
(b) Write down the ineguality shown on the number above
172 -2
(1)

(c)  Write down all the integers that satisfy both inequalities shown in part (a)
and (b).



(a) nis aninteger.
-2=n=3

List the possible values of n.

(b)

3 2 -1 01 2 3 4 § X

Write down the inequality shown in the diagram.

ic} Solve 3y-4=17

Jk]7ll

(a) Solve 3x+4=13

3x <1 <3
sy o e .

()  Write down all the integer values of x that satisfies -2 <2x <6

“[¢A <D -] 0 1 L



8. Write down one integer which satisfies the inequality 6x =42

1)
a. Solve the inequality 5x+2< 6
Sa<}
2<d
s ..................... { 2}

10. (&) Solvethe inequality 4x+6= 2

b2 -k

(b)  Write down the inequality shown by the diagram.

3 2 1 0 1 2 3 4 5 X

(c)  Write down all the integers that satisfy both inequalities shown in part (a)
and (b).



(a) Solve this inequality

bx -2 < 22

Ox <2l b

(b) Given also that x = 1 and x is an integer.
Write down all the possible values of x. # Ir

......... e {1}
Solve the inequality 2(3x — 5) = 43
f-10243
x 253
17,2 & 1207
@

Solve the inequality 2x+ 9> 19 -8x

lox 39711
|°1 710

17!



14. (&) Solve the inequality 3(x —4) =15

3;-|1$|5

(b) Write down the inequality shown by the diagram.

(@)
15. (a) Solve the inequality I+T< 20
<1
|
A !% or 1€ ll-";
..................... { 2}

(b)  Write down the integer value of x that safisfies 16 = 3x < 20



(a) Solve the inequality O+ 4<5x-14
Gy - I

8
ol

(b) yisan integer.

Write down all the solutions of the ineguality -8B <2y <0

_45,3 <0

—4<sn=1
nis an integer.

(a) Write down all the possible values of n.

(b) Solve the inequality dx+ 11 <27

q.1<ll;



18. Leeisy years old.
Toby is 8 years younger than Lee. |1 - ’

The sum of their ages is less than 41.

(a) Write down in terms of‘ an inequality to show this information.

(b) Work out the oldest age that Lee can be.
Give your answer as a whole number of years.

lu<¥q
1(1‘#-5

A

3)

19. Xis an integer.

Write down all the solutions of the ineguality 3<2x+1<13

3<2x+1<13

2<2x<12 2 3 4 5

1< X<O ——————————————



20.

Annie, Beth and Carly go shopping.
Annie spend m pounds. 1_ M

Beth spend twice as much as Annie.

Carly spend 5 pounds more than Annie. M"s

The total amount of money spent, in pounds, is more than £60.

(a) Write down, in terms of m, an ineguality to show this information.

Each girl spends an whole number of pounds.

(b) Woark out the rNs! each girl could have spent.

4, 255
Mm 71345

Annie B
Beth £... 13
Carly £....... ' ,,,,,,,,,,



